Math 2568, Quiz #3, Summer 2013 Name K E \(

Instructions: Show all work. Use exact answers unless specifically asked to round. Answer all parts of
each question and give answers in the specified format.

1. Determine if the sets of vectors are linearly independent, by inspection. If the set is not
independent, give a subset of the vectors that is.
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Show, using the definition, that any 2x2 matrix of the form A4 = [

Uy Gy ] must be a linear
transformation. (You must show all the work here, not appeal to the theorem in the textbook. )
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3. Write the matrix of the linear transformation if T (l 2
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